TR 2x° +ax? + bx 4+ 8°] x - 17} x - 22 Z}Z} Wipo] oA &
St A5 a, O] G20

®a=-2,b=-8 @ a=3,b=4

®a=-1,b=-3 @ a=4,b=-2

®a=-3,b="7



FOAA A=a+2b,B=2a+3p2
A8 A F A 2 As St

, 2A + BE T-5h= Aol A

2A+4+ B =2(a+2b)+ (2a + 3b)

= (2a + 4b) + (2a + 3b) @ EujHZ]
=2a+ (4b+2a)+3b © AYHA
=2a+ (2a+4b) +3b © W2HHZ
= (2a + 2a) + (4b + 3b) @ WEHZ|
= (242)a+(4+3)b @ BHHA

=4a+7b




3. f(x)Ex-12 s o 47} 30l &, ojufo] 58 x4 302
e Yo7k 2019 £(x) S x2 4203 02 Lpe Lhe] 2.5 atolet,

D L
-



4. 100709 A k2 —x—1,x2—x—-2,---, x2—x—-100 A A7}
B Aol o JaEefE e A BE E QIR

@ 574 @ 74 @ 97 @ 117 ® 1370



O+l
Y = A7t A

@ x24+x+1
@ x*+ V3x-1

=



oA )+ 3x+a, X2 - 3x+ b9 AT - 19 1, A&

D x> +3x2-12x+8
® x>+ x2-10x+38

® x>+ 2x2-8x+10

@ x3-3x>+10x-8

@ x> -9x+38



7. ATAF AGTF 19 F olAN Y ARFERT x4 3017 H4T
Bl a2~ 6 T, F ol2pAle] e

D (x+1)(x-2) @ (x+2)(x+4)
® 2(x-1)(x+3) @ 2(x-2)(x-4)

® 2(x+1)(x—4)



8. Bad (1-uxi)(1-i)7} 2847t HES A% xo] gte Astoiet

Be -



(

1+x

@ -2i

1 -\ 101 ,
) Ogrrﬂ,f(lﬂ

1-i

® -3i

)-r (i

@ i

JEE Rk

® 2i






11.

FEHM y = 22— 2x+ 4k O] T IS} x Z3} A2 ThtA] oFL o] &
o 915 b7

1 1 1
®k<% ®k<—% ®k>1
@ k<~ G k>-—-

4 4



12. o5y =x2+ax+b7F (-1, -2) ¢ (1, 0) & X o], HAEHS
ToHH?



13. ot y=x+ax+b=F A (-53) AU, x=m <&
%3 3m & 2=t m 9 gk kel



14.

= ore}4] A, Boll tiste] (A, B} = A% + B - AB=}
1, 222 - 3) - 7& A% WOl A A5Rafsich. o o,
A7

D x- V2 @ x-1 ® x
@ x+1 ® x+ V2

oo, (x? +
o147} obd



a1

Xy 91
(x,y) ol tiste] x +y o] dHgte F-5H3?

@484 @192 Q112

@ 100

® 548



